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8 FTXK&E
1 EAKEERRKR

(BEEIAIHERE)
X5 FERHI0EE | RHMTEE SH2EE SFEE SHAEE
£mAOA) (A) 76,600 75,995 75,166 74,517 73,649
BHEHEKADBI(AN) 76,547 75,942 75,113 74,464 73,598
| EREB/A) (%) 99.9 99.9 99.9 99.9 99.9
e Bk B &K (km) 580 581 580 580 583
BEKEES (M/B) 39,430 39,430 39,430 39,430 39,430
MBS KZ(C) (M) 10,160,666 9,965,031 10,006,158 9,712,583 9,687,260
1R&X(m) 30,511 29,292 33,683 28,816 29,599
K=
18 F#(m) 27,837 27,227 27,414 26,610 26,540
E3 1H&XK(Q) 399 386 448 387 402
TAS-YEKE
1B Q) 364 359 365 357 361
FHUKZD) () 8,914,355 8,723,044 8,786,796 8,532,922 8,454,158
HIXZED/C) (%) 87.7 87.5 87.8 87.9 87.3
(B LKER)
2 AHRTKEBFEKRR (A543 A 31 BIHE)
BRI XI5 FRK 028 X 35 MIBIZ R 75 FIpRES
ax =5 3 3 4 =+ +
| R |TEER| T RERR wmw | B8 | wew | T | wen | B2
#itF 3,401 694 840 41 2 8,465 4 2,576 3| 59402
(B TKEEER
3 JKBEAERR (£ F05E3A31ARTE)
X5 AHTKE | BESEHK | #EBLROE g DigE=E
FHEEE (ha) 5,071 570 6 5685 5,647
HEK X g 7 (ha) 3,997 570 6 5685 4573
MERXIFERAD(N) 66,635 5,141 83 1,628 73,487
Kbt HE () 26,703 2,010 34 649 29,396
KL (%) 95.1 96.1 98.8 97.4 95.3
KEFEAEANB (N) 63,385 4,938 82 1,585 69,990
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